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1. What is the main question(s) raised in the paper (the issue)?
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2. Why should we care about it (the significance)?
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3. What is the author’s answer (the findings)?
a. BELERAME KRB ARCRNEIEE NS W [BUN ~ 26 -~ HA
B MR ETE - (EEmNEE A RN TIERRE n]REfI H A%H
[RAR -

b. Ry 7RISR - &R SIEBURIR ] B2 M B A & PR
TEARERE » Hrh—THBOR B L H & © (EE USRI L &5
L& HIRAVEERERRE - bR — RS I T H O ER# a8aE S
R E2E e

c. FEFET  BUNERFARER EEME B REREE A " 18RET
MREAE] ) EEGTT > BRIt E R Ry T IER T A B ST
TR AR SR -

4. How did the author get there (the strategy)?
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